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Q.1- Analyse the factors you think made it possible for England to be the first country to 

be industrialised. 

Q.2- Explain the favorable political conditions in England that further helped in the growth of 

theIndustrial Revolution. 

Q.3- How do you imagine the transport system without train engine? Explain your views. 

Q.4- ‘Major inventions and reforms gave a boost to agriculture in England’. Analyse. 

Q.5- How did Industrial Revolution changed the lifestyle of labour workforce? 

Q.6-  Explain the causes behind the growth of Fascism and Nazism. 

Q.7- Describe the immediate causes of World War-I. 

Q.8- Explain the consequences of World War-II. 

Q.9- Why European countries chose Asia and Africa to extend their dominance? 

Q.10- Write a note on Appeasement Policy. 


